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PN . is monthly '
1 Mujeb's mznfh;?:ﬂm /52800, The pie chart below showshsm,“ © 8 c)Entertainment =1180 Food & Transport =500
| arpaffurglon e I Difference amount = 1180 - 500 = $680
(o] What did he spend the most money
on? sl d) Savings = Total amount — Expenses
How much did he spend on his bills?
R :3' What is the difference between fhe = 2800 — (1180 + 500 + 700)

amount he spent on entertainment and savings = 2800 — 2380 = $420
fhe amount he spent on food ond

transport?
(d) What froction of his money did he Fraction of money saved = 420

save? 2800

420 42 6
2800 280 40

a) On entertainment $1180

b)That slice shows1/4 of the circle.
So % of total amount he spent on bills

2800
4 x 2800 = 4 2800 + 4 = $700
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2. The pupils In a class were asked to write the name of their fovourite ocutdoor sport. The
pie chart below represents their choces.

[a) whait percent of the class liked boskeft?ol!?

(5} What fraction of the class liked swirmming™

[c} If there were 22 pupils who chose
basketball, how many pupils were there in

Saskerbo® th= class altagether?

b)20% = 20 = 10 =
100 50

c)| % | No.of pupils | 55x ? = 45 x 22
55 22 ?= 45 x 22 = 990

45 ? 55 2>

Total pupils in the class = 22 + 18 =40 pupils
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Pie charts

80 pupils ware asked fo Indicate their favourite fype of food. The result of the survey is

shown in the pie charl below. : :
E ; a) Indian food

10
30
Creole "l
20 \
|

-

==odi=

fal What was the favourite food of the 80 pupils?
(b} What fraction of the pupils preferred Creole food?
:

i

d) 80 - (30 + 20 +10 + 12)

el What percentage of the pupils preferred Italion food? : 80 == 72 - 8

8 pupils liked Chinese food.

many pupils liked Chinese foad?
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. s o ] H . .
2. The pie chort belowshowshawshombspenlhlsllm jast Saturday / a)ShohaIb spent most of hls tlme on researCh = 34%

816
X 24 hrs = = 8.16 hrs

100

192 96

X 24 hrs = 100 = 50

{al What did Shoaib spend most of his time on?

{b) How much time did Shoaib spend on research?

d) % of time spent in café before=8 %
% of time spent to learn to fly = 8%

{el  What fraction of the time did Shoaib spend helping in the café?
=100 % --(34 + 8 + 17 + 25 + 8)
=100%--92% =8 %

{d] Shoaib decides to stop leaming to fly a plane and use the time, instead, to help in
café. What percent of the time does he spend helping in the café now?

Time spentincafé now=8%+8% =16%




